
 

 
 

 
St Joseph’s Calculation Policy 

2022/23 
“At St Joseph’s, we learn, love and grow with God at the centre.” 

 



 

Progression of calculations 

 

 



 

 

 



 

 



 

 



 

 



 

 



 

 



 

  



 

 



 

 



 

 



 

 



 

 



 

 



 

 



 

 



 

 



 

 



 

 



 

 



 

 



 

 



 

 



 

 



 

 



 

Long Division: 

Factor Pairs 

 

When using long division, we can make the calculation simpler by dividing the divisor into factor 
pairs. 

 
Instead of dividing 720 by 24, we can complete the division using factors. 

 



 

You then choose the factor pair which you believe will be the most efficient to work out the 
problem.  

 

 

 

 

 

 

 

 



 

Multiple Clouds 

However, we cannot always use the factor pairs method. The previous method only works when the 
dividend is divisible without a remainder. Therefore, we can also use the multiple cloud method.  

 

Let’s look at the problem of 721 divided by 24. 

 

Firstly, we would work out the multiples of 24 on the side. We could use 
mental calculation strategies to do this e.g. add 20 then count along 4.  

 

Additionally, when you have worked out 2 x 24, you can double it to get 4. 
Likewise with 24 x 3, double it and you then have 24 x 6. 

 

 

 

 



 

 

Once we have calculated our multiple clouds (typically going up to x8), 
we can then calculate the question by using the bus-stop method.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 


